AGS3 Name
Rational Functions

Unit 4 Review

Graph each rational function, mark all asymptotes and anchor points.

1. f(x)=x%2+4 2z g(x)=%——1
N
Ay 1 \y
10 10
y - B ;
% :
1 x o T
~10 B 5 10 <=1 -5 L Y
A ;
-5 !—5
=l 4 V“ —10 ¥ L
Shift vight 2 shift lepe 3 refled
MEt up H Shift dswn | Stvetch x2
For each rational function determine as many features as you can without graphing. Be as specific as you can.
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Perform the indicated operation, make sure all answers are fully simplified. Show all steps.
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Solve each rational equation, check for extraneous solutions.
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